
= mk;kd; fy;tp epiyak; 

bA+rd; & LNlhhpay; nrd;lh; 

tFg;G: 10                    mwptpay;    kjpg;ngz;: 75 

rhpahd tpiliaj; Njh;e;njLj;J vOJf.       12x1=12 

1.uhf;nfl; VTjypy; ___________tpjpfs; gad;gLj;jg;gLfpwJ. 

m) epA+l;ld; %d;whk; tpjp  M) epA+l;ldpd; nghJ <h;g;gpay; tpjp 

,) Neh;f;Nfhl;L ce;j khwhf; Nfhl;ghL  <) m kw;Wk; , 

2. 20 Ca 40 jdpkj;jpd; cl;fUtpy; 

m) 20 GNuhl;lhd; 40 epA+l;uhd;            M)20 GNuhl;lhd; 20 epA+l;uhd; 

,)20 GNuhl;lhd; 40 vyf;;l;uhd;             <) 20  vyf;l;uhd; 40 GNuhl;lhd; 

3.ePuw;w fiuriy milahsk; fhz;f. 

m) ePhpy; fiuf;fg;gl;l cg;G           M) ePhpy; fiuf;fg;gl;l FSf;Nfh];  

,)ePhpy; fiuf;fg;gl;l fhg;gh; ry;Ngl; <) fhh;gd; il ry;igby; fiuf;fg;gl;l ry;gh; 

4.. ………...,iz fghy euk;Gfs; cs;sd. 

m)12     M)13   ,)31   <) 14 

5.fpug; Row;rp ,q;F eilngWfpwJ. 

m)gRq;fzpfk;  M)ikl;Nlhf;fhz;l;hpahtpd; cl;Gwr; rt;T 

,)Gwj;Njhy; Jis  <) ikl;Nlhf;fhz;l;hpahtpd; cl;gFjp 

6.%is ciwfSs; ntspg;Gwkhf fhzg;gLk; ciwapd; ngah;……. 

m) muf;dha;L rt;T  M) igah Nkl;lh;   

,)bA+uh Nkl;lh;   <) ikaypd; ciw 

7. 1 amu vd;gJ 

m) C-12 d; mZepiw     M) i`l;u[dpd; mZepiw 

,) xU C-12 d; mZepiwapy; 1/12 gq;fpd; epiw  <) mjpf mlh;j;jp 

8.ml;ilapd; clw;fz;lq;fs; ,t;thW miof;fg;gLfpd;wd. 

m)nkl;lhkpah;fs;   M)GNuhfpshl;bLfs;     ,) mjp njtpl;ba fiury;   <) ,it midj;Jk;. 

9.fPOs;stw;Ws; vJ ehskpy;yh kw;Wk; ehsKs;s Rug;gpahf nray;gLfpwJ? 

m) fizak; M) rpWePufk;            ,)fy;yPuy;  <)EiuaPuy; 
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10.fhw;wpy;yh Rthrj;jpd; NghJ cUthtJ………… 

m)fhh;Nghi`l;Nul;     M) vj;jpy; My;f`hy;     ,) mrpl;ily; Nfh.V <)igUNtl; 

11.N`y[d; FLk;gk; ve;j njhFjpiar; rhh;e;jJ. 

m)12   M) 15   ,)17  <)18 

12.tpgj;J fhuzkhf ‘O’ ,uj;j tifiar; rhh;e;j xUtUf;F mjpf ,uj;j ,og;G Vw;gLfpwJ. 

,e;epiyapy; mtUf;F ve;j ,uj;j tifia kUj;Jth; nrYj;Jthh;? 

m) ‘o’ tif  M) ‘AB’ tif ,) A my;yJ B tif <) midj;Jtif 

gFjp -2 

 

vitNaDk; VO tpdhf;fSf;F tpilasp    7x2=14  

13.xU fNyhhp tiuaW. 

14.Fsph; gpuNjrq;fspy; ePh;tho; caphpdq;fs; mjpfk; tho;fpd;wd. Vd;? 

15.Rthr <T vd;why; vd;d? 

16.thdk; Vd; ePy epwkhf fhl;rpaspf;fpwJ? 

17.nfhLf;fg;gl;Ls;s glj;jpy; A,B,C kw;Wk; D Mfpatw;iw 

fhz;f.  

 

18.mk;Nkhdpahtpd; rjtPj ,iaigf; fzf;fpLf. 

19.n`d;wp tpjp tiuaW. 

20.JU vd;why; vd;d? JU cUthtjw;fhd rkd;ghl;il jUf. 

21.jkdpfSk;> rpiufSk; mikg;gpd; mbg;gilapy; vt;thW NtWgLfpd;wd. 

22. 3 nr.kP cauKs;s nghUnshd;W 15 nr.kP Ftpaj; njhiyT nfhz;l Fopnyd;rpw;F 

Kd;ghf 10 nr.kP njhiytpy; itf;fg;gLfpwJ vdpy; nyd;rpdhy; cUthf;fg;gLk; gpk;gj;jpd; 

cauj;ijf; fz;Lgpb. 

gFjp-3 

vitNaDk; 7 tpdhf;fSf;F tpilasp (32 fl;lha tpdh)   7x4=28 

23.nghJ <h;g;gpay; tpjpapidf; $Wf. mjd; fzpjtpay; #j;jpuuj;ij jUtpf;f. 

24.ey;ypay;G thAr; rkd;ghl;il jUtp. 
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25.ypA+f;Nfhirl;Lfs; Jfs;fs; cilait kw;Wk; Jfs;fsw;wit vd 

tifg;gLj;jg;gl;Ls;sd.Vd;? mtw;wpd; ngah;fisAk; gzpfisAk; Fwpg;gpLf. 

26.#Nlhpa njtpl;ba fhg;gh; ry;Ngl; fiuriy Fsph;tpf;Fk;NghJ gbfq;fshf khWfpwJ Vd;? 

27.[pg;uypd;fspd; tho;tpay; tpisTfis vOJf. 

28.Fwpg;G tiuf. m) njtpl;ba fiury;     M) njtpl;lhj fiury; 

29.G+f;Fk; jhtuj;jpYs;s #yfj;jpd; mikg;ig tpsf;Ff. 

30.etPd mZf;nfhs;ifapd; Nfhl;ghLfis vOJf. 

31.m),urf;fyit vd;why; vd;d? 

    M) A vd;gJ nts;spapd; ntz;ik epwk; nfhz;l cNyhfk; A MdJ O2 cld; ,ize;J 

8000 C apy; tpidGhpe;J B ia cUthf;Fk;. A apd; cNyhf fyit tpkhdj;jpd; ghfk; jahh; 

nra;a gad;gLfpwJ. A kw;Wk; B vd;d? 

32..fhy;rpak; fhh;gNdl;bd; midj;Jj; jdpkj;jpd; rjtPj ,iaigf; 

fzf;fpLf.(Ca=40,C=12,O=16) 

midj;J tpdhf;fSf;Fk; tpilaspf;f            3x7=21 

33.m) 1)epiykj;jpd; gy;NtW tiffis vLj;Jf;fhl;LfSld; tpsf;Ff. 

 2)nray;gLk; jpir rhh;e;J tpirapid vt;thW gphpf;fyhk;? 

    my;yJ 

      M) 1) b.vd;.V mikg;G vt;thW cUthfpAs;sJ? 

 2) b.vd;.V tpd; caphpay; Kf;fpaj;Jtk; ahJ? 

34. m) xg;G mZ epiwf;Fk;> Mtp mlh;j;jpf;Fk; ,ilNa cs;s njhlh;ig tpsf;Ff. 

                                       my;yJ 

       M)1. fiujpwidg; ghjpf;Fk; gy;NtW fhuzpfisg; gw;wp Fwpg;G tiuf. 

          2.,Ukbf; fiury; vd;why; vd;d? 

35.m) 1.ePuhtpg;Nghf;F vd;why; vd;d? ePuhtpg;Nghf;fpd; Kf;fpaj;Jtj;ij jUf. 

         2.nraw;if Mf;rpfd;fs; vd;git ahit? v.fh jUf. 

                                                 my;yJ 

     M) <uk; cwpQ;Rk; Nrh;kq;fSk;> <uk; cwpQ;rpf; fiuAk; Nrh;kq;fSf;Fk; ,ilNaahd 

NtWghLfs; ahit? 
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SRI AMMAN KALVI NILAIYAM 

TUTION AND TUTORIAL 

Class: 10    Science    Marks: 75 

Choose the Correct answer:        12x1=12 

1.To Project the rockets which of the following principle(s) is /are required? 

a) Newton’s Third law of motion   b) Newton’s Law of Gravitation 

c) Law of conservation of linear momentum d) Both a and c 

2. In the nucleus of 20Ca40 there are ___________. 

a) 20 Protons and 40 neutrons    b) 20 protons and 20 neutrons 

c) 20 protons and 40 electrons   b) 40 Protons and 20 electrons 

3.Identify the non- aqueous solution 

a) Sodium Chloride in water     b) Glucose in water 

c) Copper sulphate in water    d) Sulphur in carbon di oxide 

4.which is formed during anaerobic respiration 

a) Carbohydrate  b) Ethyl Alcohol  c) Acetyl Co A d) Pyruvate 

5.The number of components in a binary solution is _________ 

a)2   b)3   c)4   d)5 

6. .. ……….,there are parallel cranial nerves. 

a)12   b) 13   c) 14   d)15 

7.Okasagi fragments are joined together by __________ 

a) Helicare  b) DNA Polymerase  c) RNA Primer  d) DNA Ligase 

8.Which of the following is the Universal Solvent 

a) Acetone  b) Benzene    c) Water   d) Alcohol 

9.Kreb’s Cycle takes place in __________ 

a)Stomata  b) Inner Mitochondrial membrane   c) Strong hatred to water      d) 

Interness to water 

10.Estrogen is secreted by ____________. 

a) anterior pituitary  b)Primary Follicle  c) Graffian follicle  d) 

Corpus luteum 

11.The large elongated cells that provide nutrition to developing sperms are 

a) Primary germ cells   b) Sertoli cells   

c) Leydig Cells   d) Spermatogonia 
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12.Which one is referred as “Master Gland”? 

a) Pineal Gland   b) Pituitary Gland  

c) Thyroid Gland   d) Adrenal Gland 

Part-II 

Answer any 7 Questions. Question Number 22 Is compulsory   7x2=14 

13.Define -1 calorie 

14. What is respiratory distress? 

15. Why does the sky appear blue? 

16.Identify the A,B,C and D. 

 

17.Define-hentry Law. 

18.Find the percentage concentration of ammonia. 

19. Why do more aquatic organisms live in cold regions? 

20. What is rust? Give the equation for rust formation. 

21.How do arteries and veins differ by structure? 

22.Find the height of the image formed by a concave lens of focal length 15 cm on an 

object 3 cm high. 
 
 

Part-III 

Answer any 7 Questions. Question Number 22 Is compulsory   7x3=21 

23.State the law of general gravitation. Give its mathematical formula. 

24.Derive the ideal gas equation 

25.Why are leukocytes classified as granular and non-granulated? Mention their names 

and functions. 

26. Why does a heated divalent copper sulphate solution crystallize on cooling? 

27.Write the biological effects of gibberellins. 

28. Note. Devital solution and non-devital solution 

29.Explain the structure of the cell in a flowering plant. 

30.Write the principles of modern nuclear policy. 

31.a) What is rasakalavai? 

B) A is a silvery white metal A reacts with O at 800C to form B. An alloy used to make 

aircraft parts. What are A and B? 

32. Calculate the percentage density of calcium carbonate.(Ca=40,C=12,O=16) 
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PART-IV 

Answer all questions.         3x7=21 

33.a)1. Explain different types of posture with examples. 

2. How force can be divided depending on the direction of action. 

Or 

B) 1. How did the structure of DNA evolve? 

2. Biological significance of DNA. 

34.a) Explain the relationship between atomic mass and vapor density. 

Or 

B) 1. Note the factors affecting solubility. 

     2. What is double dissolution? 

35.a)1.What is evaporation? Give the importance of evaporation. 

2. What are synthetic auxins? Give eg. 

Or 

b) What are the differences between hygroscopic compounds and hygroscopic 

compounds? 
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